OlsZ2 7IZ=Mu 2021 §=

4/9 (4 | Z= =/3 | HelA | EdHE | HFAR
1/29 |1 |32 g4y |p.75 |EO015 ([ZEol1] W ofefolA oA WA &) p(2) =25 p(2)=02=2 HF
W) wo] 4L cheat ol AR (5, Mg vh Adych)
AAFA 7S e Z]
2/28 |1 J: }7: " x| pas | Boos L 13
WA U 4 1 V3
AE Eo] a= —7r B= gwolfq sina= cosff == - oJAJet tana+tanf=—o—+ V3 = 1o},
3/8 |1 |mAE B |p.64 |G168 | (Al WA Zo)4) E,F,=F,G,=5:6% E,F:F,G,=5:62 A% (& 9% =& :2 &%)
19 |1 A TH s 2 A04 olof|A] A A Zo|x = 2 A
3/19 S A | p.20 049 ($lellA] Al A Zoll4l) ABCDE ABDCE 7%
(@l W ofeloll A 6HA~8HAl & Rt ol AA)
WAA 7V a=49 A% 4207 =4t oq—p=4,
wo |1 TR x| pss |coss o v )
A U (p, =2, 3), 2 m=4>=16, n=4°>=64
a=2,8, 16, -4 t= &A% (p, q)7} EABIA] gt
4/3 |1 |BET A | EAF [p.128 |L149 [ V(X)=[ (D e v(X) =] () |2 g (& XS X 2 54)
415 |1 WA 71 A47 [ p.s3 | AL ($lollA s8R =) x/_ V92 +43, V0= 3%
2 U || Slolq 9wiA) 2) 62 8= B
4/16 |1 |&Ed A |AE- |p.51 | K099 (W2 Ao HojlA]) 328 238% HA
4/16 |1 | mAHE 7k | &ldR | p.375 |1071 (@22 i SJojq 1284 &) f (b—a)E —f (b—a)2 HF
_ L 1
4/29 |1 |34 7Hg [ S1EA | p.206 |GO09 | (W ol Al A %) = lim 23(1— o +1) Z%
n-— k= =
%010 o]ug ol,EHg]_ 7Lo] x%xhﬂqq—
. 51:*(5?'27T"2)7 r (;72)
= A AP10,Qp. 01B1CD, 9 Basls
5/15 |1 |mAbd b | s | p2as |goos | O™ il
. ojma Sulsse] geo] Fale] 2fsto]
P r—2)
o lim S= 2 _16(v/2-1)(z—2)
S S =L 2(v2—1)
d3(vZ-1lr—2)
A e 350 (ol Al HA ZoflA)
s20 |1 [T g | P J007 : n
WAG p.206 E wCenCh & E 2CinCo— 1k 22 A (5, A0t §19] r& no= %)
p.299 SBZ QoA 13 THslo] 6WlA E5E 2297 71K T} ol At (&, 4
7‘1] t EO] O]O)
9] T™-A
tana, = tan (27 +a,) <tanay
olug
2r+a, <a,, & a;—a, >27
npk7z|9] Hho 2
a, —ay, >2m
9L Wl 5= 9k,
OI*MH 3o Rglo] Y-S 223 4
299
5/28 |1 [m]HE 844 p‘goo 212 @iy =0, >27
b p300 LEZ oA 19 EFsle] 5HA SR 184 E7H4] o3t Zo] FEFuch (&, 4A
o))
9ol oA
tana, = tan(a, + ) <tana,
SEES
a +m<a, oW, p=a,—a, —7(>0)Z FA
9} TR-A
tanay = tan (a, +7) <tana,
NEE
a, +m<a, oW, ¢g=a,—a; —7w(>0)2 FA.




OlsZ2 7IZ=Mu 2021 §=

2/9 [4 [z= £/3 [0l [Earis [ 34
A 7+
(s, 24) | [p.139 . e . N
6/16 |12 0 [SVER| D [BO4T | RE RN y=e® y=r2 AATUE G5u)
(140)

7/9 |12\ A b | BAIF | p.202 | GO63

o
i
}01.
mlm

G068 oA G058 & AA

WA 7He

713 |1.2 gﬂ;ﬂ; =44 z:zgg JO59 | REMEE J059 o4 J069 = AA
(140)

7/15 |1,2|4=%}F2 EA% | p.86  |E159 ($1oNA ]l A SollA) WFo= & P = A
wA 71

7/19 [1.2 ;{i;ﬁ% A% | p.148 |E063 fla)gla)7y & “fle)g(z)ey =2 3
(120

8/2 |1 |82 A% | p.100 |E053 [Zo]2]0] FhollA flz)=2"+ & flz)=2"+ 082 HF
w44 71

8/2 |12 gﬂj‘i; SER i;fi L009  |($1el4) 9uA 2) 002E 0.022 44
14

8/7 |1.2|m A 78 | a1 | p.359 |1005 (oFfol A 3HA &) e(z—1)S exZ HH

8/18 |1,2|gEx B4 |s1dd |p.74 |K049 ([ZBol2lolA 11HA &) a, =1 o, =12 HFA

8/31 |1 |82 44 |p.33 | D057 (GFaLsloll A 1497 &) F= 719 =& wF =2 FAch

=
8/31 |1,2|%%H 83 | p.122 |BO51 | ([EolllolAl offellxl sWA) &) A Col & A 094 &2 FA
10/1 |1,2|+81 S8R | p.79  |A212 | (oFEollA 10WMA &) —28L +288 AT




